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Extra Practice 5

	Lesson 5.5: Exploring Ratios 

1.
A baseball team has 3 outfielders, 4 infielders, and a battery 
(the pitcher and the catcher). Write each ratio.


a)
outfielders to infielders



b)
infielders to the battery
c)
the battery to the entire team

2.
Write each ratio in two different ways.


a)
a tricycle’s wheels to a bicycle’s wheels
b)
a tricycle’s wheels to a car’s wheels
c)
a tricycle’s wheels to a car’s wheels to a bicycle’s wheels
d)
a tricycle’s wheels to a bicycle’s and a car’s wheels

3.
There are 7 cows and 5 chickens in a farmer’s field. 


a)
Write the ratio of cows to all the animals in the field. 
b)
Write the ratio in part a as a percent.

4.
a)
Draw two different diagrams to show the ratio 2:3.
b)
Draw a diagram to show the ratio 5:3.
c)
Draw a diagram to show the ratio 4:3:5.

5.
a) Write a part-to-part ratio to compare the items in each sentence.

i) A student has 3 red pens, 2 black pens, and 7 blue pens.
ii) On the chess team, there are 4 girls and 3 boys.

iii) A box contains 8 apple-flavoured granola bars and 4 oatmeal-flavoured granola bars.

b) Write a part-to-whole ratio for the items in each sentence in part a.
Express each ratio as many ways as you can.

6.
A bag contains 4 strawberry, 3 grape, 2 orange, 5 raspberry, and 6 cherry gumballs.

a) Write each ratio.

i) strawberry:cherry

ii) grape:raspberry

iii) raspberry:strawberry:cherry

iv) orange and cherry:all the gumballs

b) Suppose 1 grape, 2 raspberry, and 3 cherry gumballs were eaten.

Write the new ratios for part a.

7.
a) How could you explain 3:4 as a part-to-part ratio?

b) How could you explain 3:4 as a part-to-whole ratio?
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Lesson 5.5 

1.
a) 3:4
b) 4:2, or 2:1
c) 2:9

2.
a) 3:2, or 3 to 2


b) 3:4, or 3 to 4


c) 3:4:2, or 3 to 4 to 2
d) 3:6, or 3 to 6, or 1:2, or 1 to 2

3.
a) 7:12
b) 
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5.
a) i) The ratio of red pens to black pens to blue pens is 3:2:7.

ii) The ratio of girls to boys is 4:3.

iii) The ratio of apple-flavoured bars to 
oatmeal-flavoured bars is 8:4, or 2:1.

b) i) For example, the ratio of red pens to all the pens is 3:12 =  eq \f(3,12) = 0.25 = 25%.

ii) For example, the ratio of girls to team members is 4:7 =  eq \f(4,7) = 
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iii) The ratio of oatmeal-flavoured bars to all the bars is 4:12 =  eq \f(4,12) = 
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6. 
a) i) 4:6, or 2:3

ii) 3:5
iii) 5:4:6

iv) 8:20, or 2:5

b) i) 4:3
ii) 2:3
iii) 3:4:3
 iv) 5:14

7. 
a) I have 3 goldfish and 4 guppies. The ratio of 
goldfish to guppies is 3:4.

b) I have 3 goldfish and 1 guppy. The ratio of 
goldfish to all the fish is 3:4.
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